INTERMEDIATE EXAMINATION — 2019 (ANNUAL)

sl. Code :- 219 ..Com.

Model Set
Economics (3refemme)

giienlefal & forg fAcer —

Instructions for the candidates :-

1. RIemefl Jra 31Ue Sreal H &) SO |

Candidates are required to give their answers in their own words
as far as practicable.

2 cifel 3k &R W A gu s quife Piffe @wa €
Figures in the right hand margin indicate full marks.

3. $9 A Bl AFYdS g & frw 15 e &1 sifRea wmy fear mar 2
15 minutes of extra time has been allotted for the candidate to
read the questions carefully.

4. g U-U4 Tl @uei H§ 2, WUs—3] Ud @ue—q |
This question paper has two sections : Section-A and Section-B.

5. GUe—3f # 50 IS yed & T yee aifvard §)

Tds @ fow 1 sfe FuiRa 2, g7@T IR Sueer HRA T OMR—3fe
A W ga B e /A dld 0T 9w el o weRr @



RIgeTR /TRl ygred /&t /ARG ‘am%: @1 OMR ®fic # WanT H=AT A/
&, 31=gel URIe gRvIe =T 81 |)

In Section-A, there are 50 objective type questions which are
compulsory, each carrying 1 mark. Darken the circle with
black/blue ball pen against the correct option on OMR Sheet
provided to you. Do not use Whitener/Liquid/Blade/Nail on OMR
Sheet, otherwise the result will be treated as invalid.

Yugs—q # IR—ajfie g & 25 ooy g € R 9 5 15
geHl & SR o At } | uRe g @ fow 2 i PuiRa §) s
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In Section-B, there are Non-objective type questions. There are
25 Short answer type questions, out of which any 15 questions are
to be answered. Each question carries 2 marks. Apart from this,
there are 08 Long answer type questions, out-of which any 04 of
them are to be answered. Each question carries 5 marks.
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Use of any electronic device is prohibited.
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wﬂw1®wa&smﬁmm%‘ﬁm¢m&mﬁmﬁvw§
%ﬂﬁﬁwméfmmgﬁ@mﬁmaﬁOMR—sﬁewﬁ%ﬂaﬁl
TP & forg 1 ofe fuiRg 2

Question No.- 1 to 50 have four options. out of which only one js
correct. You have to mark, your selected option, on the OMR-Sheet. Each

question carries 1 (one) mark.

1, JATEH TRTGAT Th —
A. J&T DI AR Farer B 2 B. 3187 @1 3R S~efiew &1y 2
C. 38 & 9A=R 2l 2| -D. 38T & T B @

Production Possibility curve is
A. Concave to the axis B. Convex to the axis

C. Parallel to the axis D. Vertical to the axis

2 Wa#ﬂmﬁﬁmﬁf@aﬁﬁﬁ—ﬁ@ﬂﬁé?
A. |fed i faRemr |
B. 3afoies swrzal a9 srawer
C. A 3R B i
D. 379 9 #I1¥ 78



Which one is the limitation of Macro Economics?
A. Collective Economic Paradox
B. Ignores Individual Units

C. Both A and B

D. None of these

AT IUAIFTaT 89 3 AreTera &7
A AMU B ATU
AQ ' AQ
c. Ao D. AQ
ATU AMU

How we calculate marginal utility?

AMU ATU
A. AQ B. AQ
AQ AQ
= ATU . AMU

Wﬁﬁzﬁﬂaﬁzﬁﬁ?@m%#ﬁm?
A. Hr3fer 'B. 9
C. Repref D. e vg tary

Who propounded the ordial utility theory?
A. Marshall B. Pigou

C. Recardo D. Hicks & Allen
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A. qfef B. #f

C. qfct a5 o D. #1171 &) &=

The quantity of goods which the seller is ready to sell in a market

at fixed price and time is called -
A. Supply B. Demand

C. Elasticity of supply D. Elasticity of Demand

H‘Wﬁqﬁaﬁﬁwﬁmﬁf@ﬁﬁaﬁ?—wwé?
A. STHIFRT 3 g ¥ yRads B. WalT awqai & @ § gReds
C. S # gy D. 79 &1 w5y

Which is a reason of change in demand?
A. Change of consumer's income

B. Change in price of related goods.

C. Population Increase

D. All of these

ﬁrﬁﬁra?gaﬁa%%vaﬁw#hwaﬁﬁ‘cﬂ?—
A. FUTHS B. eTes
C. 7= D. 379 & #1E 7&



10.

For Giffin goods, price elasticity of demand is -
A. Negative B. Positive

C. Zero "D. None of these
SUTGT B Bl Fad PvaT & —

A. Qx = Px 7 B. Qx = Dx

C.Qx=f(A, B, C, D) D. 7% 9§ 1 7

Production function is expressed as :-

A. Qx = Px .B. Qx = Dx
C.Qx=f(A, B, C, D) D. None of these
ﬁﬁ%@ﬁﬁaﬁ?ﬁmmﬁ%‘?

A. e AT B AR B. wat &7 fabvra
C. &t D. 4% &1 fiftem

Which of the following is not fixed cost?

A. Cost of raw materials "B. Rent of the factory
C. Interest D. Insurance Premium
Fefefaa & w8 fafeg IS —

A. TVC=TC - TFC B.TC=TvC - TFC
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C.TFC=TVC +TC D.TC=TVC X TFC
Which of the following is true?

A. TVC=TC-TFC B.TC=TVC-TFC
C.TFC=TVC +TC D. TC=TVC X TFC

%ﬁ%wmﬁ%mwawwﬁ
HH B2

A THIRIBER B. Ta1farerY yfeaifirar

C. A 3R B gmi D. gof afcrnfirar

In which market MR may become zero or negative?

A. Monopoly B. Monopolistic competition
C. Both A and B ) D. Perfect competition

of gfenfirar § —

A. AR = MR B. AR > MR

C. AR <MR D. AR +AC = MR

In perfect competition :-

A. AR = MR B. AR > MR

-

C.AR<MR D. AR + AC = MR



13.

14,

18.

BH B AT BT verm w2 |

A. MR = AR B. MC = MR
C.MR=TR -D.AC=AR
The basic condition of 5 firm's equilibrium is -
A. MR = AR B. MC = MR
C.MR=TR D.AC =AR

Hﬁﬁ?ﬁaﬁaﬁaﬁﬁﬁﬁzouﬁwaﬁqﬁ‘gﬁﬁ%wﬁ{%ﬁm
Wmﬁq%ﬁmaﬁ@ﬁmaﬁqﬁsﬁ:—

A. drEER B JAreR

C. IAWF ofragr D. gofa: Yefreer

If the price of goods rises by 20% and supply increases by 40%,

then the supply of such goods will be -
A. Elastic B. Inelastic

C. Highly Elastic D. Perfectly Elastic

B.Wwwmwﬁmél
C.aﬂnﬁﬁ%aﬁmwa‘rﬂ?ﬁfﬁ?l



16.

17.

D. Swfaa w

Which one of the following is true for monopoly-
A. Firm is price-maker

B. Demand curve slops downward

C. Price discrimination Possibility arises

D. All of the above

ﬁﬁﬁr@ﬁﬁﬁmﬁaﬂnﬁﬁaﬁwmﬁwmwﬁmm@ﬁ
Ry —

A. Repret B. arerrs

C. #refer D. Slo @0 #ear

Who gave the concept of ‘Time Element’ in price determination

process?
A. Ricardo B. Walras
C. Marshall D. J. K .Mehta

Waﬁnﬁﬁrafwa%ﬁmﬁaﬁq—ﬁmﬁ?

A. T B. #oTg:
C. ara D. Sugaq wfi

Which is the component of factor price determination?



18.

19,

20.

A. Rent B. Wages
C. Interest D. All of the above

a&ﬁiﬁaﬁaﬁﬁaﬂﬁaﬁﬁiﬁwaﬁmgﬁr%—

A aTE W T B. 7o 9 aft

C. 30E & e D. ¥ & qver

The elasticity of a straight line supply curve originating from the

centre of origin is
A. Less than unit B. Greater than unit
C. Equal to unit D. Equal to Zero.

STIWR NI BT dpfoqs -y &
A e oy B. anfefes e
C. A= amrg D. 39 arTg

The alternative name of opportunity cost is :-
A. Equilibrium Price B. Economic Cost

C. Marginal Cost _D. Average Cost

B. Rer @1 w1 ey 2
C.Wﬁaﬁﬂaﬂamﬂﬁwﬁmﬁﬁél

10N



21.

22,

D. ReR @t o= &1 @ &

What happens when production is shut down?
A. Variable costs become zero

B. Fixed costs increases

C. Variable costs decline

D. Fixed costs becomé zero

wwmmﬁﬁwﬁmmmwméwﬁﬁ—mw

HEATAT 27
A. APP B. MPP
C.TPP D. ¥ g4

A curve which rises first and starts declining after that is called -
A. APP ‘B. MPP
C. TPP D. All these

SUTET BT HPRI TR 8 —
A. Gait B. s
C. 4 D. ¥ & &1 =&

An active factor of production is :-

A. Capital B. Labour

11



23.

24,

25.

C. Land D. None of these

ST g FRM @ 8 & g BROT &l 87

A. ! & WA B. w1 ol wITu B |

C. A 3R B Tl D. 379 ¥ @®I$ 8l

Which of the following is the main reason of operating the Law of

Dimishing Returns?

A. Scarcity of factors

B. Imperfect Substitution between Factors
C.BothA&B

D. None of these

airaa gRad=eiel arTd & —
A TVC XQ B.TVC +Q
C.TVvC-Q D.TVC +Q

Average variable costs is
A.TVC XQ B.TVC +Q
C.TVC-Q D.TVC = Q

“uff @ AT B gor w2 | 39 e wffed faar?
A. Sio €10 ¥ B. w0 Two0 A

12



26.

27.

C. o9 D. Ra&rst

"Supply creates its own demand”. Who propounded this law?
A. J. B. Say B. J. S. Mill

C. Keynes D. Ricardo

ﬁﬁuﬁwaﬂwﬁg%gﬁa%wu—waMEC:—
A qedl & @ | B. Tt e @
C. Rem w&eh & D. s 9 B 7

With increase in investment, MEC :-
A. Rises B. Falls

C. Remains Constant D. None of these
m@w@%www@zﬁﬁhﬁqﬁgsﬁwﬁwﬁ%ﬁ
A forgw qfg & Bt ??

A. SR "B. IdreT

C. ama D. Sudaq g

Increase in aggregate demand of equilibrium level of income and

employment causes increase in -
A. Employment B. Production

C. Income D. All of the above

13



28.

29.

30.

PT—TT FUT G 87

A. K= Mpc B.K= Mps

= 1 1
C.K= TMps K= Timps

Which one is correct ?
] 1

A K= MmPc B.K= M_Ps
= 1 i 1
=hE 1-MPs D. K= T Mps

< i @) PreReRe % @ R 8
A.WQ%EHWWWWWWE%%QWWH‘WQ#
HH BT 2 |
B.Wﬁi%mnﬁtgﬁma%%namwmtﬁﬁmﬁ 2l
C. A 3R B I D. g7 & PIg Il

What are the features of Deficit Demand?

A. Aggregate Demand falls short of Aggregate Demand required

of full employment level.

B. Aggregate Demand remains short of aggregate supply required

of full employment level
C.BothA&B D. None of these

ferdrre & ¥ @1 O Jar wftaferd € 2
A 4 B. dfe

14
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32.

C. UUR D. fafeamr

Which of the following is included in secondary sectors?
A. Insurance B. Banking
C. Trade D. Investment

ST T R IE I IS BT el oy &
A ST 3y ' B. 9&at fader
C. =% 3y D. 79 & &1$ =

Net National income at Factor cost is called :-
A. National Income B. Gross Investment

C. Domestic Income D. None of these
ﬁs?ﬂaéwa?@nﬁwaéﬁﬁwfﬁwﬁﬁw%wmﬁﬁw%mﬁzﬁ
ISR oA Pl HEd 27

A BT T ITeH B. Iy amy

C. 1 = 3my D. fagg g saure

The market value of all final goods and services produced in an

economy over a year is called :-
A. Gross National Product B. National Income

C. Gross Domestic Product D. Net National Product

15



33.

34.

35.

qﬁmﬁaﬁaa%aﬁ#aﬁw%ﬁgaﬁaﬁq—?ﬂﬁmwﬁﬁé?
A g9 B. War

C. famfor D. ggparer

Which service is included in Tertiary Sector?

A. Mining -B. Communication

C. Construction ‘ D. Animal Husbandry
GNPyp = ?

A. GNPy - ferarae B. GNPy + faeet % 3¢ e amg
C. GNP + 3rem D. 57 &1 &1 =8

GNPMP =7

A. GNPy - Depreciation
B. GNPy + Net Factor Income from abroad

C. GNP + Subsidy D. None of the above

Frefafes 4 @ a9 g8 2

A IS 3T = Al o — sryeuer o
B.Wm:ﬁsﬁm—ma{m
C.Wm:aiﬁaﬂﬁaﬂa;mam
D. wava a1 = fAoft armg — srgeser oo
Which of the following is correct?

L~



36.

37.

A. Disposable Income = Personal Income — Direct Taxes
B. Disposable Income = Private Income — Direct Taxes.
C. Disposal Income = Personal Income — Indirect Taxes.
D. Disposal Income = Private Income — Indirect Tases

Wm$wﬁﬁmﬁﬁﬂ@¥ﬁaﬁqmmﬁwmm
87

A. ITRI® Rt & gieares B. wqfera erira ey

C. 31 vd Wafr &1 yafifaeor D. Suga @

Which objectives government attempts to obtain by Budget?
A. To Promote Economic Development

B. Balanced Regional Development

C. Redistribution of Income and Wealth

D. All the above

ﬁmwﬁawgﬁfﬁ%naﬁﬁ—wmmmmé?
A. I=gferd goie B. 9d &7 gue
C. g &7 que D. 574 & ®Ig =g}

Which of the following Budget is suitable for Developing

Economy?

17
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39.

40,

A. Balanced Budget B. Surplus Budget
C. Deficit Budget D. None of these

ﬁﬁﬁﬁﬁwmwﬁaﬁw%ﬁ%—
A THR gRT B. #rer—drer g1
C. fovg 9% gry D. w171 o9 ofdf wifadat ew

Foreign exchange is determined by -
A. Government B. Bargaining

C.World Bank D. Demand and supply forces

A T = "B. fhvsat forrey
C. eeR D. 8reeq
‘Budget is a preliminary approval Plan of Public revenue and

expenditure”. Who said?
A. Rane Stourn B. Findlay Shirras
C. Taylor D. Dalton

Fefeead # fbve e, a1 a8 & o 751 @7 Pt -
A. B faed B. &2

C. "o g D. &I



41.

42.

43.

"Money is what money does” who sajd jt?

A. Hartley Withers B. Hawtrey

C. Prof Thomas D. Keynes

8T &1 Brf ® -

A T &1 ey B. 9e7 &1 7ye
C. 19 &1 Hay D. 579 3 wfy

The function of money js :-

A. Medium of exchange -B. Measure of value
C. Store of valye D. All of the above
TS A% St SR oy 87

A DR § B. @maiRe e

C. s ¥ D. W&ar %

What is Central Bank of India?
A. Central Bank B. Commercial Bank

C. Private Bank D. Co-operative Bank

I8 9 &1 e a4 ey 20
A. RT ERPHR B. I sy
C. Rod §5 D. afoiiye §



44,

45,

46.

Who regulates money supply?
A. Gowt. of India B. Planning Commission

C. Reserve Bank D. Commercial Bank

ﬁaﬁaﬂ%ﬁﬂ#mwé?
A Red §% sife gfear B. ¥ 4% sifp gfea
C. Ife zxe it g D. s7% 9 #1¥ =

Who is the Banker’s of the Banks?

A. Reserve Bank of India B. State Bank of India
C. Unit Trust of India D. None of the above
dfepr aﬁmmaﬁwﬁmﬁmm‘aﬁns‘?

A. 1990 -B. 1995

C. 1997 D. 1998

In which year Banking Ombudsman Scheme was announced?

A. 1990 B. 1995
C. 1997 D. 1998

W%Wﬁﬂ—?ﬁwmaﬁm??
A. T Ha 'B. W g
C. Ry D. Swfa it

20



47.

48.

49,

Which type of currency is issued by the Central Bank?
A. Currency B. Credit Money

C. Coins D. All the above

Wﬁqﬁﬁﬁ%‘%mﬁﬁa—?ﬁﬁwﬁﬁaﬁﬁ?
A T3 7 B. 3rgey #¢
C. TSt 37eRor ' D. 579 9 i

Which items are included in Balance of Payments?

A. Visible items B. Invisible Items

C. Capital Transfer D. All the above

AR A BT Jef gy & —

A TSl & o -39 9 B. G311 & amara frfg o

C. oo Bfee qor e 3 D. 579 & 9+

Balance of Trade means :-
A. Capital Transaction .B. Import Export of goods

C. Total Debit and Credit D. All the above

21
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The meaning of Spot Market relates to foreign exchange is :-

A. Current Transactions B. Transactions of mid-period
C. Transactions of Long Term D. None of these

fafma o & Mt gorfrt &

A. faga smr gedh B. =fera wfmr qwy

C. yafra axoreferar D. Sudaq w4

The Hybrid systems of exchaﬁge Rate related to -
A. Wider Bands B. Crawing peg

C. Managed Floating D. All of them

79
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Section-B (Non-Objective Type Quesitons)

oI INIY 999 (Short Answer Type Questions)

WWT@%WF@WW@W?IW@%HW?W
élmwzﬁmzaﬁ%ﬁa%l (15x2=30)

Question no. 1 to 25 are Short answer type questions. Answer any 15 of

them. Each question carries 2 marks. (15x2=30)

1, Iftc siefere & @ wwe $?
What do you understand by Micro Economics?
2 Al el & 3 g g fory
Write two main components of Macro Economics?
3, R SUAITT Ud et IuhifraT # DI |
Distinguish between marginal utility and total utility.
4, ST a5 a7 87

What is indifference curve?

23



10.

i

12.

13.

14.

AT B P @ F o 82

What are the exceptions of law of Demand?
Hﬁwaﬁﬁwaﬁaaﬁwﬁammﬁa’raﬁaﬁﬂﬂml
Explain any two factors that affect price elasticity.

STTET Bl | AT FIT Ty &7

What do you understand by Production Function?

W Y IR ANTE # R siqy 87

What is difference between Explicit Cost and Implicit Cost?
99 MR =MC & @ %5 &1 siftresam oy fiyerar 27
Why does a firm attain maximum Profit When MR = MC?
e S e weR o B &

What are the different types of supply elasticity?
VPR IR B fi9 qe fsivany ERIELE

Write three main features of rﬁonopoly market.

AT O THTI JaTg TR |

Explain the Circular Flow of Income.

ST 3R S & T SyghT 27

What are the uses of National Income Accounting?

Wmmaﬁ?ww@amﬁmwwexé?

What is the relationship betyveen Gross Domestic Product and

Gross National Product.

24



15.

16.

17.

18.

19.

20.

21,

22,

23.

A 9xG 79 Fegadi TG H T IR &7

What is the difference between Final goods and inrtermediate
goods.

g qaT v el a1 H RI-3fv 27

What is the difference between Standard money and Token
Money?

9 T B o7 |

State the quality of good money.

TP T U9 Afefamy & qur arw 27

What is difference between cash credit and overdraft?

WER IV B TBRT B gl

State the types of Government Budget.

faceh fafmg arom @ Rt o) aferTfrat 1 aarea

Mention any two participants of the Foreign Exchange Market.
AITRet TR Hqer aar 82

What is unfavourable Balance of Payment.
ﬁﬁmwawﬁwwwwﬁug%ﬁwga%ﬁﬁm

Explain the relationship between investment Multiplier and
Marginal Propensity to consume.

AT #9 JelaeR gt 27

When does demand become Inelastic?

25
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25.

FARBR 1 37 faeivary qarser
Explain two features of oligopoly.

RISTRT °1C 9 7 3ifigry 27

What is meant by Revenue Deficit?

26



HEECGRHOR RG] (Long Answer Type Questions)

Wm26®3swﬁéwﬁaﬁ%$mﬁlﬁﬁ®%4m$w
élu@mm?ﬁfmsaﬁﬁﬁuﬁa%‘l (4x5=20)

Question no. 26 to 33 are Long answer type questions. Answer any 4 of

them. Each question carries 5 marks. (4x5=20)

26. W BT W e | 59 Praw @ qr G 2
Explain the law of Demand. What are its assumptions?
27. H‘ﬁaﬁaﬁaﬁmaaﬂﬁmﬂ?a‘faﬁmmﬁl
Explain the factors determining elasticity of demand.
28.  uRadele arqura & frm @ amen @i
Explain the law of variable proportion.
29. awm?ﬁaamaﬁa%ﬁmﬁaﬁﬁﬂmﬁwﬁﬁm
Discuss the short-run cost curve with the help of diagram.
30. Wﬂ%ﬁﬁmwﬁ?wwﬁﬂﬁmaﬁwaﬁml

What is Perfect Competition? Explain the characteristics of Perfect

Competition.

31, w@umaﬁmmﬁﬁaﬁéﬁmaﬁwmaﬁw@mm
HHT 8?
How the problems of double counting in computation of national

income, can be removed?

27



32,

33.

meé?maﬁmaﬁmﬁﬁaﬁm%‘?

What is Domestic Product? How Gross Domestic Product is
calculated?

o1 & oM vd IR Ry o I= a5 9ersy |

Explain  main points of Keynesian theory of income and

employment, /



